
OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 1

SPARE PART LIST
Spare Part ItemCode Item name. PictureId Price. Curr.
2710.00501.32 Resistance Fixing Part

2710.560.00530600.0.01 OBY 500 SEPET OTURAGI 53x600x1,5 LAZER ISLENMIS

6221.00001.020 Clamp 12x20

6226.00006.02 Gasket for air trap

2710.00501.16 COVER SEAL SUPPORT

6262.00027.07 Suction filter top part

9099.ZF290.VO Washing Pump LGB ZF290V SX

6262.00043.04 Data Cable 120.02.066

6234.00001.85 TERMOSTAT LIMIT RESETSIZ 75 C (MERCIMEK TIP)

6262.00030.05 Ring of Water Canalize

6262.00021.30 WASHING PIPES EPDM

6221.00001.030 CLAMP 32*50 MM

6214.00001.05 M10 hex nut

6222.00027.01 CEKVALF PLASTIK DN20 (20MM 3/4" PLASTIK VENTIL ICIN)

2710.00501.34 Supporter Leg Part

6226.00016.10 SILIKON CONTA 31*1MM.GRI (BYM 500 T/S KAPAK)

6246.00012.110 REZISTANS DEPO 2000 W (500 T/S) 230V INCOLOY Q8,5 CAMASIR MAK.

2710.00501.06 Flame sledge rail basket seat (Right)

6262.00027.06 Suction filter center part

6226.00004.040 GASKET­BLACK(EXT DIM Ø69/ DIM IN Ø55/K.4_5MM EPDM)

6262.00041.04 YIKAMA MILI SAPKASI M8*10mm 6K INOX

2710.00501.060 Flame sledge rail basket seat (Left)

2710.F0025.02 Plastic Washing Elbow (Top)

6226.00004.031 LASTIK CONTA Q40 SIYAH INCE 500T/S (DIS Q72/IC Q45/K.3MM Q4MM DELIKLI  EPIDYEN)

6262.00027.000 Suction Filter Complete

6262.00027.05 Suction filter lower part

6226.00004.07 Suction filter seal

2710.F0024.02 Washing Navel

6262.00041.03 NAVEL AXLES

6262.00021.22 HORTUM BASKILI DURULAMA Y PARCA OBY 500 (180 cm)

6262.00021.47 HOSE 1/2 30 CM

6262.00021.061 HOSE Q40*60MM *17,5CM.

6262.00026.03 Air trap (Plastic)

6262.00028.001 Drain Pipe

6262.00043.03 Digital Screen 120.02.065

2710.F0500.00 BOILER

6262.30666.013 Rinse­aid connection check valve

6262.00008.00 3/4 PLASTIC VALVE

6221.00001.020 Clamp 12x20

6221.00001.030 CLAMP 32*50 MM

6221.00001.040 CLAMP 40­60MM

6262.00021.11 OBY 500 T/S KAUCUK TAHLIYE CIKIS BAGLANTI BORUSU

6221.00001.030 CLAMP 32*50 MM

6262.00024.01 Metal rod Stopper

6214.00014.04 M5 hex nut with flange

6214.00005.00 NUT M5 S/S WITH DOMED CAP

6262.00043.05 Boiler Probe 120.02.067

6262.00043.06 Tank Probe 120.02.068

6262.00045.0818 CABLE FOR COVER SENSOR 120.02.070

6262.00045.0819 CABLE FOR WATER LEVEL SENSOR 120.02.071

6262.00011.02 M10*40 Adjusted Leg Black

6221.00001.050 Clamp 50x70

2710.00501.005 OBY 50 KABIN ON KAPAK (BASKILI) TOPLANMIS

2710.00501.57 OBY 500 ALT SASE TABAN (YENI)

6262.00021.12 3/4"  Water Inlet Hose

6262.00047.03 Dosing pumps hose spring

2710.00501.55 Rinse Motor Fixing Part

6262.00021.13 Water discharge hose Ø30x250 cm double sided

9099.DP020.052 Drain Pump DP020­052 with fixing bracket

6262.00021.07 Pressure switch connection hose Q8*4mm

9099.PPL45.00 RINSING PUMP PPL45 LGB

2710.00501.19 OBY 500 Bottom Chassis Front Cover

9999.B08RE.00 RINS­AID PUMP

6262.00021.61 HOSE 1/2 42 CM

2710.00501.050 Cover(Top)



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 2

2710.00501.04 Cover(Back)

2710.00501.35 OBY 50 DURULAMA MOTORU BAGLANTI (PPL 45)

6262.00067.06 DETERJAN+PARLATICI BAGLANTI KABLOSU 100CM (500 T/S) ( UKKO )

6259.00003.043 REKOR PG 13,5 ORTAC

6262.00047.03 Dosing pumps hose spring

6262.00021.163 Water discharge hose double sided 200cm

6262.00021.052 HORTUM 44*25 KONIK DIRSEKLI TAHLIYE POMPASI BAGLANTI HORTUMU (TEZGAHALTI) (105*95 mm)

2710.00501.38 OBY 50 PARLATICI/DETERJAN DOZAJ POMPA BAGLANTI SACI

6221.00001.120 CLAMP 25*42 MM

6226.00021.13 Grommet for Drain Hose

6232.00005.16 PIC MANYETIK SENSOR MS­328­3­0500

6262.00062.08 Washing tank heater cover

6221.00001.020 Clamp 12x20

2710.00501.02 OBY 500 Body Cabinet 01
2710.00501.120 OBY 500 Body Cabinet Right Side Cover 05
2710.F0500.13 PANO TOPLANMIS OBY 500 DIJITAL 10
6262.00020.08 ETIKET BARDAK YIK./500 T/S DIJITAL ( 35/40/500 ) OZTI LOGOLU 310*45MM LEKSAN 100
6262.00043.02 PCB FOR POWER CIRCUIT 120.02.072 104
2710.00501.11 OBY 500 Bottom Chassis 11
2710.00501.12 OBY 500 Body Cabinet Right Cover 14
6262.00001.05 500 T/S KAPAK MENTESE REKORU INOX 44
6262.00007.01 PRESSURE SWITCH 45­20 52
9740.D3REG.00 DETERGANT PUMP 53
6262.00033.24 Front Lid Plastic Stopper 57
2710.F0001.01 door type Magnet with cover 60
6262.00062.01 REZISTANS KORUMA KAPAGI UCGEN FLANS 66
2710.00501.200 OBY 500 Body Cover Supporter (Left) 68
2710.00501.20 OBY 500 Body Cover Supporter (Right) 68 A
9099.01000.05 Boiler Resistance 5 KW 8
2710.00501.26 Bottom Chassis Connection 81
2710.00501.03 Bottom Chassis Back Cover Support 82



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 3



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 4



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 5



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 6



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 7



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 8



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 9



OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumhuriyet Mah.Hadımköy Yolu Caddesi No:8 1Nolu Bağımsız Bölüm 
Büyükçekmece / İstanbul VD: BüyükMükellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

075D.11110.AD TEZGAHALTI BULASIK YIKAMA MAK. DIJITAL OBY 50D PDRT Version No: V18.02
Page 10


